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HAfr v mm i

LU L ]
(A) Frem 1 (gt A
(C) == olf TR LG
Find the relaned waond 1"“']

P : Cirele 22 Phi - 7 @
(A} Triangle ] (B) Golden Ratio
(CY  Pentagon s (D) Rectangle

)
Fem e it it o fire afh Rreferfiam o g difi
| = ﬁ.,_ — s FreafE T i B
20 /17 15\ 30 -’-ﬂgj (O — s ¥
7\ 20

/1” wéﬁ 11— sisfsgmitad
R afs b i gy

(A) 55 ® 10 @ (C) 45 (D) 75
Examine the provided diagram and :m'l to of the following question.
w2
0 25 @ & —3 Persons who take tea
.?ﬂ_,/l? ]5\"'.‘ 30 40 O —=3 Parsons who take coffie . Lo
T2\ 20

/ & :l — Persons who take juice

How many individuals drink only ::@:e T
(A) 55 ® 70 o (C) 45 (D) 75

150 BT #1  war §, 70 o vl g, 60 e e R i et g af 20 s it o e

forarr AT el g | 2 e ot v o) e 8
In a class of 150 students, 70 s ts passed in Mathematics, 60 students passed in Chemistry and
20 swdents passed in both MﬂﬂlﬂTﬂ s and Chemistry. Then the number of students that failed in bolh

the subjects are : I
(A) 60 (B) 50 g (C) 20 (D) 40

% AT S el 3 o) i e 8 SR e 90 Teuft am ot g # st 5 Rt i <o & o sy svedt pmond
foy 1 fore o 8 g2 g« 9©°
(A) 7 Foah g; v (B) 4 Tdaft ﬁi}#ﬁ .g__

() & Fah (D) 5 fEfr

How far are you from your starting point when you walk 5 km north and then turm 90 degrees 1o your left
and walk another 5 km 7

(A) Tkm (B) 4 km
(C) 6km _"_____h__t_l‘:ﬂ__{n_km
ke et L Bt E'zlg,ni “rlnl - T By T
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i
Blre (hyg compleies flig Patlers,

J
T
(A) m <
Y (B) If €&
e &9| r © B o 4]
e 5 i
complete the giy ;
(A) ;{HLC, GHL & 7 the given lettr seics
(C) Kim (B) LMN
— . Dy M
wﬁ-ﬁmm%: e (D) MNG
= 1 s -
(A) s =
EE] B ? |:|:-} und {D:I m

Find the related word ; |
. Elcpha:?t:ﬂﬁLanka::Kangamu:? & '
(A} Australia (B) Russia [ (C) India (D} England

U TR i s sy ; ’ 3 a
Hﬁﬁaﬁmﬁﬁwmﬁ?qfaqﬁHF%W%ﬁ‘ e R i i 5t et 31 1 g

(A) ==t A
B = Ay ST (B) A

Pointing to a photograph, Madhu said to her friend Knshna, “He is the only son of the mother of my
father.” How is Madhu related to the person in t?ﬁplmmgmph ? -

(A) Daughter = (B) Cousin
(C) Nicce off (D) Grand-daughter

war Feag (7)o T T I S| 6 © 3 s a

Choose the appropriate figure from the Answer s to replace the question mark (7).

SGIE

L e P | T T
LT TN -
MRS -
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10, v ey fifi
BTIHE : Wi ::l'ﬁli;'?

(A f= (B} =
(C) fm iy ufr
Find out the related wornd., PJ

Diamond : Baschall :: Court : 7 (2
(A} Rink m{l]} Squash
{C) Ring =’\:]{lJ] Arena

1. ﬁﬁ&ﬁﬁi'G:‘E.RE‘ﬁ‘HEAH'%ETHIﬁT?%E’HHﬂEﬁ'DRDF‘a?ﬁﬁ’lﬁlmf’"?
In @ certain code, ‘GARB" iy written as *HEAR'. Hdw will ‘DROP® be written in that code ?
% 2 (B) EVXF
(C) EWXF Q:'{Dj EUWG
12, fo e s s e o6 i ot Rt ot e e Frmd s s S Ol S E
WA ;A =l v T o] Ty e A5 g g g |
ey -
L w SR s S e |
1. mmﬁfmﬁrﬂﬂ#ﬁamﬂmqﬁamﬁl

(A) 0T e | a7 1 e {B} = 7 Fmed |t € 11 e T E
(C) et Fred | ATATT T o (D) Seret ferespd 1 ST el &

Read the Statement and Conclusions given mdc:Lemde which of the l:_.ﬂﬂl::il.lhlﬂlls- fl:&“ﬂ"-’-ff
Statement.

Starement © Red-haired people love riding hlk&i;ﬂ]

Conclusions : ' 3

I.  All people love riding bikes. i)

II. Red-haired people love nding bikes only. ¢

{A) Either Conclusion T or 1T follows (B} Neither Conclusion I nor II follows
(C) Only Conclusien I follows (I Only Conclusion 1T follows

13, TRu feamedt # & foum (@) = R
Among the given options, choose the odd one L'I-IJL‘:]

5] from the

e

27, 125, 343, 512, 729 _“L I+
(A) 729 53 (B) 512 W(c) 27 (T 343
14,  wHaEfem g e FifE CJ
Find the related number, :§J
F:48:12:7 'E
(A) 143 (B) 112 @{F} 121 (D) 84
15. ﬁmmﬁ#ﬁﬂaﬁﬂﬁﬂﬁaﬁﬂﬁﬁﬁmﬁ A7 31 309 Form Fom F g w0 A o
(A) wigm (B) &
(C) =+ (D) sl
Which way would you face now if you turned 43 degrees Lo the left after starting by facing north-east 7
(A) West (BY Enst
e oy F R e (13} South
T R AN Page 4 of 24 """""""': """""""
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5% 1 E;; - 448 Sa~ "~
- T.q% T St a4 QL w =Y awtw & cpe, o =t amtm @ el ey, oo my gl B, A
pABPIREsswmAty 53 <
TEprEsents '+, ()" Senls 3 reproscrie 4t and '8 sents *—', what is the value of
‘OfL 15 P3 H”';S el Q" represents m—&—_[-t'&mpmcn% +* undd *8° represents what 15 the valu
() 4~ (B) 49 (C;:J-m (D) 47
L !rﬁ"' ""‘*ﬂ=t§11—mn+n1 T m Pn=(m+n)*- mn@a“r (2732 (523)=
Hmen=m qm+n? gng m?n=(m+n)l—mn, (21Ne(5+3=
(A) 361 (B) 876 (ClRd332 (D) 978
18, “TLSI%EH" mﬁﬂmﬁmwﬁm%ﬁq%mﬁﬁ%ﬁﬁﬁﬂﬁmmﬁﬁi
TRt 2
Ubserve the arrangement of the series of letters “TLSEEV™, The logical arrangement can give which of the
following meaningful words 7
(A} TEASEL (B} LEAVE (C) VESSEL (D} STEEL
19,  Frerifrr ifsre s fig o g “POTASSIUMY ¥ 5ot ook w6 St o T iy aheehs P fefirs 3 & -
e AR A HHaT E | o #
Determine which of the following words can he Jormed using each letter of the given word
"POTASSIUM” cnly ence.
(A) MOUSE (B) POFPS icEhMaAss (D) TOAST
0. Freafier 32 R i) #r g .
Pick out the odd one from the following : @
1331, 1728, 2197, 2744, 3365
(A) 1728 (B 1331 {C} 3365 (D 2197
1. Frefafos § & R ) wtgf
Pick out the odd one from the fellowing . Eﬁ
5, 13, 60, 350, 1800
{A) 350 (B) 1800 e (C}:Jli (D) 60
17, ﬁﬂﬁwﬁﬁmmﬁﬂmiﬂﬁtwmﬂﬁﬁsﬁﬁﬁﬁﬁ?lﬂﬂﬁwmﬁﬁm
T He T & = o
(A) el (B} ¥ 1Y (cxHt (D) @
Pointing to a woman, Ashok said, “Her gram‘ll:laughbﬁq the only daughter of my brother™. How is the
woman related to Ashok 7 .
(A} Wife (B) Mother-in-law I:CE’?MG'H'IEI (I Daughter
i ir a I.E }- @
a, o@en:3,7, 153,63 k3 =
zjﬁmﬂ‘mc‘—ﬁﬁwwﬁ?ﬂ? |5l %5%{; [ 2l ]L?._f{; ~5E‘*']
Series: 3, 7, 13, 3], 63,42 i
Whal is the next number in the seres
|
4, 5E weE I A S @
(&) T (B) (C) = (D) Erifaer
ich is di from the rest.
Choose the word which is d!ffﬁrﬁf. - X _
(A) Emu ) MR i B rtisa ) el
sl e = R R e R - R 2 e L
Y24 e

& Download SSC CGL, CHSL E-BOOKS



https://sscportal.in/study-kit/police-constable
https://sscportal.in/ebook

DONNLOCAD I!ﬁ . https://sscportal.i n/wi?Z

15,

26.

< p b/
W'@ﬁﬁmmﬁ%wﬁammﬂmﬁmﬂﬁﬂ: 2%’,1;’{ g@

S, 2024 e avg 23 ¥ 28 AEH ALY

=

b. 33#3—-'['1'1?1-313!13[1”___.-’ =

= ﬂmmmﬁﬂﬁmmm‘ﬁmﬁqﬁﬂmmﬁ;ﬁ,

d, gewH 50§ =N 25 S |

c. ufiFlivEw & H}ﬂﬁaﬂ‘r:rmaﬂmﬁmmwaﬂﬁamm?l

; ﬁmmﬁwﬁmﬂ%%jmﬁﬂrﬁa#ﬁﬁmﬁﬁﬁm@%a

g AR IR S o i D w@ﬁmﬁﬁ@mmmﬁﬁwﬁmﬁﬁ

=TT ST & |
Fereetfeatiae STt 3 ST o EeT {3 e - Tt ot A =nes, ?
v 35 w0 o 5 A o A | A

T 4 ¢ 56% AT F WY MCA, T il - 12w, 1999 1 O
55%, ¥ Wy T | L

(A) Teteam e e A

(B} 221 wquimd ]

(C) T T S e it i e

(D) IFftEaR i E g & w T H A #

Consider the conditions for selecling facully-tembers in a School @
Age berween 23 to 28 years as of Apfl) 2024,

Work experience of minimum 3 yearp. |
Postgraduate degree in relevant subjeewith at least % marks.
Minisum of 25 marks in the intervield out of 50.

1f the candidate does not have PG, the case is to be referred to the senior faculty member.
the interview, the case is o be refened to

meRRr =P

If the candidate does not score minimum marks in

Principal of the School.
IT the candidate satisfies all other qualifications excepl the age limit, the case is to be referred to the

B
Board of Directors of the School.
Which course of action should be taken fm@ld]m Ranjan based on the following information 7

Sudha Ranjun : MCA with 56% marks. Blte of birth : Fébruary 12, 1999, 5 years of experience as a
teacher, Obtained 55% marks in the intervied,
{A) Candidate is to be selected as u leaehe[{]

(B) Data is inodequate @
() Case is to be referred to the Board n!@ﬂnﬁm of the school
(D) Candidate is not to be selected as a foullty member

s it el 1 e g |

Find out the number of triangles in the figure

=

S e kg
S S ———E N P L) I e e i . o e . S O O O R e el T
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1 S

27, P Rt s 3 s o g o
Find the next figure in the series from the piven aplions, 'S Jl_ f‘ 3
8] o
: @) : o
X o6 &
O
) {In (111 (1V) (V)
oY G/
LA El' (B) 0 ()
| |
/ON /EN b
B, WHE 24 W Al e '3-._{'_“'_:.-1,‘;- @ F
The sum of the first 24 patural numbers is : = AL 3
(A) 325 (B) 600 (CY300 (DY 576 A
9. UE FE G, mﬁﬁﬁmaﬁﬁﬁmﬁfﬁq?@a Frfirfia 1 & Fi-81 A0TES, HET W d=al Wl
e 5 wh i 92w (s n | 8
In a classroom, the number of boys is three times [Bnmhur D-fgillti. Which of the following totals cannol
represent the momber of children in the class 7 F R ;3 3
(A) 22 (B) 40 {C) 20 (o) 24 ¥
0. THWECH X, Y ot z 7w F A vk wRgwt F wlin § | ol we X wei s w9 e, ST Y,
TEF 7 ¥ 7w v |, fien i agwm vad T B R
(A) Z (B) XWZ (CPdy (D) X
A town has three streets parallel to each other named }ES‘E& and Z. If street X is not the busiest, and street Y
iz husier than street 7, which stregt is the busiest ¥ @
(A) £ (B) XorZ {CD’&’ (o X
| ST HE i i | E
Find the dissimilar number,
(A) 512 (B) 216 (C) 343 (D) 169
| o O @gfrmﬁ;qﬂ?ﬁw 3w GO (T T e AR 8, Y A A (- H)
FAFLFIEM? - .
(A) FwetETd (3EES) (B) e () (C) ¥y (SfiwnE) (D) O (FETE)
When a cube is sliced by a plane perpendicular to m]c.@j its diagonals, what 15 the shape of the resulting
cross-seclion ? :H:
(A) Trapezoid (B) Pentagon {%Eﬂumaﬂﬂ (D) Hexagon
T T I . 8
gad - EETHA o L ! -
=T (cy S (D) HTe
A 3 & -
Complete the analogy : ; @
i oo Lungs - ¢
!-Ifzarl : Circulate {;}Esmgﬁt © Excrcle ___“E:.}“]%,.,mm
O L ORI = i e
Y¥-.24
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34, ﬁ‘q%ﬁa-ﬂ. '
ﬁﬂ%wﬁmnﬁﬁﬂamﬁﬁqﬂﬁﬁw Y TE s

Find the Mirrop 'l1'l:|ElEE of the figure Trom the fllowing il the mieror is place

X

]
o

*
. E ;
O @@ A&HD
)
=

35,  Tauw 3 Hifen |

Find the odd one out. : jb - @W_P}JL

. > H v TP
= = g xlLm = 3
* S __ &
5 =
(4) ) s © )
w *
£

36, di sl s e g © ™A ,

Find the number of triangles in the given Fﬁe A ' }g*

> o X A
) %
{
e 2w
a é — & ?,:fv

(A 11 (B) 10 E LR (D) 12
3, uﬂmﬁ‘amﬂﬁaﬁrﬂﬁﬂ%ﬁ%ﬂﬂﬁﬁ&ﬁﬁ%ﬁ#ﬁqﬂ%ﬂﬂﬁ?

(A) T (B) =TT @ (© W (D) o

Dhanesh said, “This girl is the wife of the of my mother.” Who is Dhanesh to the girl 7

{A) Father-in-law (B) Grandfathess? (C) Husband (D) Father

38. ﬁmﬁﬁﬁmﬁmmﬂwﬁ%:

Identify the incorrect number in the following series :

27, 26,24, 21,18, 12
(B) 24 (C) 27 (D) 12

e e e |
T T T R i T Lo i

CYX-24
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39 25% A0 arermvy sorer a R i e e i it it st
IM;J {I’Hﬁ g (1B s (Y 5 ifyy 1oEd 5o
:;L W much time will an snount be tripledd, ut the rnte of 25% per annum simple interest pes
(A) 6 years (B} X wears (L) 5 years (I |0 years
(0. C U T 24 Rl 3 31 1 16 Bl vt g 1 AR o e e 9 o, AP D 3 e
Jﬁqqﬁﬁﬂﬂﬁxﬁmwﬁwﬁﬁaﬁﬁ:ﬁwgmm? em o £ a
C can do a piece of work in 24 duys and D in 1GHays. They began the work together, but D left the work
4 days before its completion, In how many daysahs the work completed ?
(A} 9.6 days (B} 9 days &1 (C) 12 days () 10 days
. 110 Hat s F o, v me%ﬁ:dﬁjz T o famwd ﬂ_camm ATH FHHTAT & | HFHAE
BlRBIEHGEILE S el . R i A
After selling 110 oranges, a shopkeeper clai #5! that he J]]%f;:ﬁ a profit equal to the selling price of 2|4
22 oranges. Find the profit percentage of the shofikeeper, ay |£§' o 2 iﬂ /0
(A) 25% (B) BO% (C) 2% g (D) T3% 7
L Eﬂiﬂrr&afrsgaﬁmmﬁﬂﬁgrﬁmam%#r{amaﬁa%ﬁ'ﬁwﬁmmﬁﬂ"iﬁtﬁlﬁ#mmglﬂﬁ )
12 5T 3% swﬁaﬁﬁy TSR, TR e e Tt i e 7 Ljfﬁlj,(ﬂ S@M
@) 3 Y& T 0 o (cy 5% (D) 4fA
A work is dong by 3 males in 16 days and the sdime work is done by 6 females in 16 days. If 12 males and
8 females work togeiher, then they completed thkvork in how many days 7
(A) 3Jdays (B} 10 days {‘:I (C} 5 days (D) 4 days
3, s w0 2 # uﬁﬁa‘wﬁﬁ@hﬁa&mtﬁ@a 5 ;78S S | 3 HEAAT F AT
- o
fif . 2e€XM S5 & 13- ¥ |
The ratio of two num&i'!'-#fi'['z. ﬁ if 21 is ad both numbers, then the ratio becomes 3 - 7. Find these
numbers. we k)] = (a2 @F :
(A) 14,28 @) 840 Hx = 42.(C) 714 (D) 21,42
(T T g% TAeT 0 W A El%.lﬁiﬁﬁﬁ.ﬁﬁﬁ 2l mﬂ | Pt St w6 48% WH
s, 37 Wiemat i 110 it O T # | 2 T A i e s e o ¢
%% of the voters in an election did mot cast their votes. In this election, there were only two candidates,
The winner, by ohtaining 48% of the total v::t:&t&pﬁ:alﬁd his contestant by 110 vﬂiﬁs,#: todzl number of an
voters in the election wis 3} 4 4. 18| O 4
&) 1220 (B) 2750 Toa - 0¥ (C) 1210 X 1235
. ﬁaﬂﬁﬂrﬁﬁﬁﬁiﬁnﬁw%ﬁ'ﬁﬁﬁmﬂ?tmﬁﬂmmmﬁiﬁaﬁmﬁfmwnﬁrm 75% q ‘.
gy & €t T Hif T S G0, AT = wfafiiies W@ § fe sice o win v & ol
ﬂzr%m? I it 3 st
Wﬁﬁmkﬁqﬂﬁmﬁﬁﬂmﬁi}#ﬁﬁ aﬁmaﬂmmwﬁmfr
llege has Taised 758 of the amount it lmﬁﬁ"nr a new I:mi]ding by receiving an average donation of
A o0 Efg Sin aele already solicited. The ﬁ?splc already solicited represent 60% of the people the
g1 o il k for donations. IT the college is to raise exactly the amount needed for the new building,
college will a3 donation from the remaining people o be salicited 7
(A) 400 (B) %500 (C) e {} 0
_______ SRR T A =T L T R S R s - Sl
VR 24 ; | 1=R2C
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48,

49,

51.

a,
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Fare (U R
e BRI U ity 3 4 ssvat 35 ot 4ot =6y sy s 40, nﬂ?—ﬁ & 5.6 3 = .8 FF (0

s 4% i Al e i AT
H TR L it EE A=) | |
S an exarnination, by mistake enters 6.8,

A wabulator w 06 students in i K
while caleulating the nvernge marks of 110 5 those studernts 15

instead of 8,6 nnd obtuins the pverage s S8, Then the actual average AT ks of

(A 5381 (B} 5928 () 5818 (D) 5.782

A i fire 74
ﬁﬁnﬁaﬁ#‘rnwﬁﬁq‘umfgggﬁﬁﬁﬁmﬁ;ﬁ;ﬁﬁﬁmﬁgﬁﬂﬁmraﬁﬂmﬁxaﬂ 0
iy st = freror a= e o 4%

il mixture
In what proporiion must w grocer mix n.ug:-:r at %.43 per kg and ¥ 28 per kg 50 that he makes a mi

worth T40 per kg ?
ey 7:12 4 Q (D) |:4

(A) 203 (D) 12.7
e g T et o 10 ff o = rﬁ;r@émﬁm S s et o ez w1 TR 60 R
AT (AT % AT e v 4 at b= 2 Y
(A) 6% (B) 4% wﬁ:} siz q+B D) 10

A boy can swim in still water at a speed of 10 knlihy. If the speed of the current would ha\-'n: been 5 kmph,
then the boy could swim &0} km downstream (along the flow) in how much time ?

(A) 6 hours (B) 4 hours (C) 5 hours (D) 10 hours

TR T # E, veet i T 15§ ot s e st 16 & AR sif e 19 8, A7 e e
FET " E 45 8 _ 1 _. 153 v

Out of four numbers, the average of the first three/ 15 and that of the last tlm:t is 16, If the last number is

19, then the first number is : % f,-. ”, L%i&ib
(A) 16 (R) 19 [pe® 1k (C) w 17 - ;15 4
T GFGR O TR 1 IE 6 5 T A e, SR 9o T 100 i 5
maa‘rmmﬂ%aﬁaﬁrrmu &8 (oo {i{é %4

H‘l‘l.

A shopkeeper marks the price of a book 120% aﬁle its-cost price. If hr: es a sﬁ unt of 10% on the

marked price, then find his profit %o, H’
é}{c:l 9E, Wﬁ‘i[}} &5% i_-J'" Jﬁ

(A) 110% (B) 60%
U T T A W T 6,400 8 Jﬁﬁqmﬁﬁwzmmaﬁammilﬁ#%m =E iR

mmzn%#gﬁﬁwm%ﬁﬂﬁﬁ@m%ﬂ jﬂrﬂﬁ
The cost price of a table iz T 6,400, A merchant wants to make 35% rofit by stlling it. ‘At the time of the

sale, he declares a discount of 20% on the mﬂrked{frl:u Then what is the marked price 7 Eﬂwﬂm R
(A) E 14,000 © (B) T 14,500 _*tIZC} 10,000 (D} T16,000 - L2 ﬂ-

A, BmLﬁW%ﬂ%ﬁlﬁF@ﬂ%%ﬁﬂmMéz gﬂﬁﬁiﬁraa %ﬁ%ma;mgaﬂ{
C g P T | uﬁaﬁ#ﬁaﬂﬁﬂmﬂ.ﬂﬂﬁmﬁmﬁcmmnﬂaﬁmﬂﬁmmarﬁqqa?

A, B and C started a business. A invested 33 %%‘% the total capital, B invested 33 %% of the remaining
capital and C, the remaining, If the total prafil EI@F end of the year was T 4,050, then find the amount by

which the profit of C exceeds the profit of B,
(A) T6T5 (B} 700 (©) T520 23 55

e
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53, FiE wetfan
TEE grf. ‘lﬂﬁﬁmﬁm‘2ﬁﬁw25~m3ﬁﬁ,ﬂﬁmaﬁ%%ﬂ,mam: 44 s 50 ol
A amoun .
Smce_ﬁsi.,'.: Fi;iii-.nm in "_ll.'f-."ﬂm H 1 tl‘l|'|1|'|uu:|1[|. i|'|||;_"1u:.i| |;_-|;:|m|'"'||_t|'|dr_-|:] :|_|'|“uu||}r1 il the inlerest rate for the
|:_,|:|L], fz 413'1.1 and 5"?-'n [FCT ST Tf’*"-l“—"‘-'”""-'l.'l-'n iy
B 5,000 (B T 29,000 (C) 26,800 (1) *27,300
: ST 3 U & Rl o A o ' f :
: O 212 g feeftez & ) A g ==
ﬁ:"ﬁfqﬂ ) e i | o
the ETﬂ:ﬂt{Er?ka;:}]?ng and agminst the current is 22 kan/hr u_E::] 18 km'hr respectively. Then the speed of
& - e :} }‘_
A e
(4) 3 (B) 2 o7 @ (D) 4 &b 1%
. g:_‘r:dﬂji 103 =7 T Bamas (LOM) 71 Sifem | @ oS - o l.
ind the LCM of 0.7, 0.35, 1.05. gy g Je ; 2 r-—-—-'——'ﬂ
(A) 0.07 B 21 [o 5’ k{j”ﬂ.mg‘a} L*™ o 07
36. = T e 25 @ s s A E (HCF) 3f @mm, (LCM) w3 3 105 & | 47 397 gt &
SR S AR i S |
The sum of two numbers is 25 and their HCF and LM arc 3 and 105 respectively. The sum of the
reciprocal of the two numbers {5 - 5 5‘ %
(A) = 5 2 V.
% ® & © &4 © 3
7. ﬁ_ﬁmaﬁm@ﬁﬁmm%mmqﬁﬂwﬁﬁi.ﬁmﬁmﬁm | & wdoT =
(% ) BT 2 n "L Lkt
If the selling price is tripled and cost price duuh]n:g: the protitg@puld become 65%. So what is the present
profit (in %) 7 ]
(A) 26.5% ®) 10% (C) 50%z D) 45%
8. R sfer o o stg=s  wea e T s @ s E § 7
(A) FT=% 360 (B) 3= 370 (C) sr=a 352 (D) =TwE 356
Under which Article of the Indian Constitution can the President proclaim a National Emergency 7
{A) Article 360 (B) Article 370 (C) Article 352 (D) Article 356
0, o i o e foreh g fordt v oft 7
(A) IER Eriah! (B) U AET
(C) e i (D) femt
The book “War and Peace” was authored by whom ? o2
(A) Fyodor Dostoevsky (B) AntopLhckhoy
(C) Alexander Pushkin () Leo -
), i @ FR-E1 GST & F SFE 87 C]
Which of the following is not a type of GST 7 7y
(A) SGST (B} QGST () CG5E) (D) IGST
1 ﬁmﬁqﬁgﬁﬁﬁ-aﬁq_mﬂt-iﬁqiﬁﬁﬂ{mjmmﬁ? _
(A) Fer () Forafa wf=mweT (C) SR HIAT (D) = I
Which of the following ig an :.-{a_mplﬁ ol a non-tari{T barrer 7
(A) Quota (B) Export stibsidy (C) Trade Agreement (D) Import duty
e s A T ) e s
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ﬁ”%gnf;ﬁﬁm*mﬁ IR =6 35, T e s e A

(A) b (B) TS I YEH

[f}l AR | (1) ] U Ha = ()
Which of the following taxes is por levied by the Central Government of India ?
(A) Corporation Tax (B} Statc Excisc Duty

(C)  Income Tax (D) Goods and ScwiEEEIHH (G5T)
g

SR T e e v s (s A) By g i st T G e | v

() T it e = e, e el ot e aiferg st o Rermaatiaet

e ——— T

(B) s e s mpfim %t wamm <]
(D) T e 2 et 2l i s ]

Im what ways does the Puhlic Safct}r Act (PSA) of Jammy and Kashmir ensurf: jnternal security 7
(A) By detaining individusls suspected of activities prejudicial to the secunty of the state

(B} By enhancing community policing and engagement

(C) By promating dialogue and reconciliation hetween conflicting parties

(D) By strengthening border security and swveillance measures

mm#mwmmmmmmﬁ,a%mmi:

(A) TS ST (B) T sEwaH {:]

(C) Fg-wwamE (D) AR

The Internet Technologies wsed by terrorists to spread terrorism are termed 280

(A) Ecoterrorism (B) Cyberterrorism (]

(C) Bioterrorism (TN Narco-terrorism @

Fersredt arme = fory e = ¥ o w39 o 3w e ¢ ]

(A) ifemam (B) T - (C) e YD) e
Which fossil fuel is primarily used for electricity generation 7 &)

(A) Petroleun (B) Uraninm () MNatural gas (D) Coal

g U Zeifne & W et Sl o Wi w i b A e e Fe fede i
AEH el

(A) T EE (B) & Z
(C) #iem (D) e £
is a toolkit that targets financial serviees and enables hackers to buifd¥heir own Trojan malware.
(A) Rakhni Trojan (B) Spy Trojan
(C) Zeus (D) Tiny Banker <f]
Hifd s g e @
(A) Tt P qorfifara o =T (B) Wi 35 1 =it =7 Bk s
(C) T 3 it e W F (1) H@H?ﬁlﬁ?ﬁ?@%m

What is the main function of NITI Auyog ?
(A) To formulate nationel development strategies (B) To manage India’s defence forces
{C) Tomanage India’s central bank (D) To aversee national elections
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9.

f_:; Wﬂmﬁﬂ ﬁﬁﬁaﬂﬁm] EE dﬂﬁ'ﬂllﬂ.ﬁ?{ l[fﬂ'ﬂ[:] '51'51':”] I :.;E—__q- m o 9
(©) ﬂmmﬁw’ SRR sy b i

(R e

What

is the mai
Ui he |:|1_am Purpose of the Assoeiation
gulating international trache
|

oF Southenst Asian Nations (ASEAN) 7

<
HH-H1 Tt e T T Hifieftargn & @]}Fﬁmﬁv
e i B) SR 5 o
Which Indian state is famous for the Fonl EI () 3 (D) FAEw
(A) Kerala (B) Andhra Hasicatdance form Mohiniyattam 7
i - ﬁ'ﬁ'q.ﬁ—.[ . hﬂ:@ [E} Tamil Nadu (D) Kamataka
(A) et (B) Eﬁﬁﬁqmwamﬂ WWL .
- et ST (n) v
;rh;':hﬁj:“::s:“ﬂwmg 15 the cause of Melanomia (skin cancer) ?
ﬁ -EI- {Bj Dzﬂﬂf-' dﬁp]ﬂﬁj}l‘! |::-|:} Pﬂ“l.l.'til;l]'j I:D} Aoetd saia
1987 4 et e — sfteis geafi 5
(A) AT TR ! Eg“w“’
(B) oA 3t &7 feme o
(C)  mieie g o oy e
(D) #fteiar & A0 & ot e e i i st s R a e
What was the main purpose of Indo—Sri Lafik} Agreement signed in 1987 1
(A) To promote tourism &
(B) To develop nuclear energy &
()} To cstabhish cconomic corporation
(D) To resolve the civil conflict in Sri Lanka and ensure Tamil minority rights
o (et S &, A qEr S et E i R ol oI o e ¥ fom ) o i i
i wH ae af d T m I
(A) HHHTE (B) FEwTHEd (C) T T (D) =t e
When demonetisation occurs, the curreney @:E its and is no longer of the satus to be used as
legal money for any kind of transaction. _
(A) Money value (B) Coin value (C) Cumency value (D) Facc value
e ey e FoET (NFSM) 9 % T TR e 0 _ |
(A) | 1T et g & we A ] (B) Irﬁqﬁaﬁqqﬁﬁmﬂ?aﬁﬂ
(©) Qﬁﬂﬁﬂﬂﬁmtmﬁ R (D) UEIRECE IR T O
When was National Food Security Mission @FSM) launched ¥ g
(A) Mid of 11" Five-Year Plan (B) Endofl lu' Five-Year Plan
(C) Mid of 9" Five-Year Plan (D) End of 107 Five-Year Plan
Wb e SRR R e T I S |
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74. ﬁmﬂmﬁiﬂlsmﬂ‘ﬁﬁgﬁnmﬁ.,
(W) Sl B) spmaat (o) G (D) Hra a7 l

Which Indizn has won the 2023 Ramon Magsaysay award 7 |

{.l'!'l." KL’I“I'IE]'I 1I"IIH'1:I‘F|11]'|'| U’_ﬂ Anil -""l.ll'll_'l'ﬂl'lj fl:,- | Ruvi Kannan ﬁ-:l::l Gauiam Adani
75, UHF IEETN L &

(A) T B i oy oy R (D)

What was the ancient name of Beas 7 (!

(A) Vitasia {B) Pumushni “-F:] (C) Vipas (D) Askini
76. Rkl b s ﬁ\ﬂiﬂﬁmﬁrﬁﬂﬂ:ﬁ{m‘q@ﬁ?

(A) e el mrehy 12 (®) e s e e @

(C) Fam s ?Tpﬂ'ﬁ[ ‘-{‘3 ) i;aamliml:tﬁﬁr

Which of the following isfare subsets of w‘ﬁjﬁlcsa]e inflation 7

(A) Walking Inflation only (B) Both Housing and Food Inflation

{C)  Housing Inflation only (D) Food Inflation only

77. WY i A e d e
(A) e S0 37 Wm S| o v ) R
(B) 8 & HIcaTe War iay
{C) Wmaﬂtﬁwmmﬂgaﬁaﬁmmi

(D) T% TR W Fafia = Tt sl

What is the 'Startup India® initiative 7 &

(A) If regulates the establishment of smaH‘Fmri medium enterprises
(B) It provides tax incentives

(C) Tt provides subsidies for research evelopment activitics

(D)) Tt encourages inmovation and en L'l.]ﬂ]:llp

78. TEE ﬂ#mmmﬁwaaﬁmwﬁ@ﬁrmé ?
(A) e (52 F S (B) =Tt 1 0 (o)
(C) HEAT %eldh (D) % S A
Which of these is considered to be the hardesi substance in the human body 7
{A) Elbow (bone) joint (B) Tooth Enamel
(C) Kneecap (D} Toe Nails

79, Tl § AFETTGERR S Rt ST ifﬁﬁiﬁmﬂ;aﬁfﬁrmﬁﬁ%u
(A) VI T Hiea=
(B) e 11, (Fadenfiren T 3 fJ
(C) T QT GEam @)

(D) EETTER daqy sl —‘1
The Human Rights Commission in States jgstablished under which of the following laws 7

{A) Constitution of India @)

{B) The United Nations (Privileges and Imimunities)
(C) State Protection of Human Rights

(D) Protection of Human Rights Act

-----------------------------
________________________________
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T ) oo (o) e meem (1) s o=

Baskethal| :
i | . "
45 =1 1o have been “invented” by which of the Fllowing 7

(AY Chart o
fa;mlr cfammb:“ W) D Jumes Noswith () Coburn Haskell (D) Alfred Mynn
I:_M_éﬁa e % HAT AT SMS ey ) TeRRlfer st
rbik o Y il (€1 Feafain (1) P
i? .I_I|_ : -I. 15 :Ii"g [III."I.'FLIHIH H-HIHL' 11}"1‘“ ':,:l!.jl_ 1l_"_:|_| |I7IL-"HHI.I.L[|.‘: or SMH
E:ﬂ'l: ﬂ"’;:" scam (B) Catfishing ; | (T Smishing (D) Scam
SGRT o T 0 5 A7 gy 2
(A) FREE
(B Eﬁrﬁﬂﬁt (i C
& . ; 4 TETIT
‘E-m 15 the name of the State Flower of Utiar Fm'dli.:si “.'JI o =
[ Lotus g - o
(B) WaerLily oy (C) Gulab (D) Palash
T AT HAHEH T R a2 2 7 ]
| =4

(A} T8 =R B g e o

(B) 1% wrev sruvr & Walfirer o2 i wiaitiire woeay )

(C) T vat=oftr mEf <t datfim s d

(D) & I, W, fier, S 3 siiimn & g S aeein 51 sgmr s
What is the importance of the Malshar Maval Exercise ¢

(A} It facilitates trade apreements

(B) It addresses issues related to water pollution

(C) It addresses environmental issues v

(D) It enhances naval cooperation among IndidEISA, Japan and Australia

W, Tt s et F & e s iy e 2 0
(4] E';”E"{h ’:.1 (B) =0 sreailEw wvaw @=m)
(C) gt € (D) TewHm
Which one of the following ocean currents is .jj_@ggm fram others 7
{A) Labrador &+ (B} North Atlantic Drift
(C)  Kuroshio &) (D) Gulf Stream
5. Tttt § & wi-an ffes s m mpm i iy
(A) A (B) wifeme=t (C) A= (D) FI
Which among the following is mof an example of synthetic fibres 7
{A)} Rayon (B) Polyester (C) .Mylon (D) Cottan
6, oy o e g T i AT S
(A) =MEH (B) 9HES e (C) =i (D) Sy i
Which country is known 25 the “Land of the Rising Sun™ 7
{A) Japan (B) Thailand 1 (€} China (D) South Korea
. it i e qrER o AT T8 W 9
(A) ez AT A (] B) e &=
(C) T, s 1 (D) St
Whao was the firsi Indian o win the Mobel Prize ifﬁphﬂll:h ?
(A) Satyendra Nath Bose (B} C.V. R&‘ﬁ;
(G} 8.Chandrasekbar , 9% . . fﬂli'lﬂm_l__dl: b e e
Hf?E O g e IS AT A R A e
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88, T g
¥ A mmﬁﬁmﬂﬁw?’ -
(A - |
In which city g ¢ (3 fawn () Frn (D) FEEH |
LAY Pads 5 1he hendguariens of the 1 urepcan Lpion located 7
. (B} Wiennn (C) Cieneva i[}) Brussels
89, Tﬁhﬁ#ﬁ-—qﬁ-’l w1 A e % W gy e o -
{‘f] g (1) mre i)
{nj TR AE (D) Tt et
1¢ birthday of which leader in India is ohserved :iu Ehildren's Day 7
(AY) 8 Radhakrishnan H{E] Mahatrma Gandhi
(C)  Jawaharlal Nehru D) Rajiv Gandbi
00, RO & aehE R ad e,
(A) SRR A 3 T a3 s v e s e &
(B)  eel U Tl 3 o []
(©) ﬁﬁ#ﬁmmmﬁmmﬁﬁnﬁhmmmﬁﬁmmﬁm
(D) T FEe IR I e (1
Rl:rt-i.'l.tlljrl of crops means
(A} two of more crops are grown simultanecusly to increase productivity
(B) only one crop is grown
(C}  growing different crops, on the same land, in succession to maintain soil fertility
(I some crops are grown again and again
91. T EH (A1 2024 FE), mm%m@m@q (V) F Tofes gHimem =18 &
- ST o FY H v
(&) i e (B) o T o c; e e (D) AvoREE st
Reacently (as of March 201’4} who was unanimousl¥ elected as Co-Chair of the Digitul Innovation Board
of Intemational Telecommunication Union (TTLT)
(A) Nceeraj Mittal {B) Ajay Ranjan M ]Shl'{l }E‘J sunil Mittal (D) Aparajita Sharma
92. 1764 T s eard # ot 3 e srede T T o1 ,
(A) FTHET= (B) et (C) i wwfim (D) ferr=-az-dem
Which Indian ruler was defeated by the British in the Battle of Buxar in 1764 7
{(A) Tipu Sultan {B) Haider Al - () Mir Qasim (D) Siraj-ud-Daulah
93, - TR A “EEa ¢ gnetE g o v & 0
(A) M=z { B) W fiE
(C) et vinme e : | D} T, ST e
Which freedom fighter is the author of the book * IE.Echu::tmn ter Dircamland™ 7
(A) Subash Chandra Bose H]l Bhagat Singh
{C) Bal Gangadhar Tilak 1) Vinayak Damodar Savarkar
04,  =-ar s o, e Pl o H, AW A AT R 7
(A) e (riifoafee) FAB) SRR (U )
(C) wEwHsTeE (e _ @ID‘J #He: 7 (wie-)
Which research design studies the same subjects over a period of time 7
{A) Longitudinal (B} Experimental
(C) Comelationsl ( Hl_f_‘mu-mclmml
oy Rl i Pagelbofzg = =~ eemmemssesdadkseg
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A E’;' "I ST (NHRC) 3 31 e s o s fael 2 41 e 8
The Chzirne TR (@) fow () T (0 FareA
e ARrperson and the Members of ihe otionn] Hurmg “.ij.'.““'l Comtimission (MHRC] are nppnin:ud by
(A) Speaker of Lok Sabha (B} Finanee I'-;Iini;:;r iC}  President (I Vice President
6, e R T e i gy i Tt
Complete the patter given below * ol
D. DD, DDDD, DODDDRD, ]
{?: EDDD i @) (8) DDDDRDRRDDDDDD
(C)  DDDDDDDDDDD [] (D) DDRRDDDLODD
7, Al AT A 3 o 4 s Yfninfier sok £ |
e b
i?; T (3 %EE (B) s s 2
| R (D) e oy ifie %’
Baromcter ?5_"':' Air pressure as Anemometer is to 3 3
(A)  Humidity (B) Speed of ueroplanes
(€} Temperature (D) Wind speed
h E‘riﬂ'ﬁﬂﬁﬁﬂﬁgﬁ e T & o o, 80 Tfliper i @ e g, T o 7 44 Feelere A fe
el 5% T F 40 S Fun e & 0 e
(A) 4204, (B) 4007, oF (o) 307, (0] 440, |
What is the combined length of two trains whendifie, moving at 80 kmv/hr, crosses mother, travelling in the
same direction at 44 kan/hr in 40 seconds 7 € 5_'
(A) 420m (B} 400m [l (C) 360m () 440m i £ }5
. SfEET H e T T | i i 1 1‘%&;} =
- - s & V= o s - \zo
Find the next number in the sem o }lfz_,
82, 108, 130,154,
w1030 3 B 180 @@ " g4 @™ 3L
), sf@eT 28, 126, 344, 1332, ____ I TR A
. : 332, :
Complete the series 28, 126, 344, 1332, . .lll-gr
(A) 2168 2YLS (B) 2198 (€) 2167 :;;'“ o
V20 <l ! ¥ HI F AT W '
= e U g 0 @S w H BiiiiEibr :
L m%ﬁfﬂjﬁﬂ%ﬁmﬁ e gt 8 0508 =T 3 e 3w 2 o e o f i
N e (@ A (] (O TR (g Ry
(A) i circle facing the ¢ and representing the hours of a I::].li':lli.'k .wuh. Hh':. first
Twelve studen 5t howr osition second siedent 2 2“‘1 hour position and so on. In which direction is the
S 1:1; ngh?hﬂﬁd of the 10" sudent withystspect 10 him ?
Smdﬂl:-l ﬂ;llh s (B) South-Y¥est ﬁl,} (C) North-West (D) South-East
(A) o .
0, sy 1 | 5 §RA. >
Find the dissimilar numb*;-s £E-
78,104, 13, 13% 1”3] i (C) 156
(A 10806 ?'_E -------------------- RTelih . o e c o oeT
st st >

e =
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Hﬁmmﬁwﬂrglﬁﬁm@ﬂrﬂ Eﬂmﬂ'qjﬁaqnmrﬁﬁmﬂnf-ﬂliﬁ:] Wﬂimhaﬁfﬂﬂmﬁ%
sﬁnh E?EIT-TH

=t HET = 1200 Feito @m=|mnﬁﬁm

A% T A ST B 3 5 B o e 30 79 et d o e 40 5 Feenms, i S Fg
T 20 wfT Fetie, s welt it i € 15 Wy Pesimm o swres @ Fa T 18 39 femm 2, &
@qﬂﬁﬁ?ﬂﬁﬂwﬁmﬂgﬁqﬁw%?

Study the pie-chart carefully to answer the question given. The pie-charts show the percentage quantity of
fruits at two fruit shops A and B.

Shop A
Ciuava

Total quantity = 1200 kg Total quantity = 1000 kg

If Mangoes arc priced at T 30 per kilogram, Appies at T 40 per kilogram, Oranges at % 20 per kilogram,
Other fruits at T 15 per kilogram and Guavas at per kilogram in both Shop A and Shop B, what is the
combined price of all fruits at Shop A and Shop

(A) T52,630 (B) %52,620 <L:,C] 52,260 (D) 52,360

104, U e ¥ AN, FF 0, 4,2, 3,4, 5. 6. I.Saﬂ’lfé)‘m;ﬁ,ﬂ,c,n.ﬁ, F, G, H, 1 37T J gy sty 9@
! o , N &% [5B[4 4 C4b

AT [(C % D) + (F % YD F 7 T A <
According to a code, digits 0, 1,2, 3,4, 5, 6,7, §gpd 9 arc represented by A, B, C, D, E, F, G Tand)
respectively,
In this code find the value of [(C ¥ D) + (F x J])/D.
(A) 19 B 17 (C) 16 (D) 15

T i ik T T T 2 i et L
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X u : = ¥
ﬂir#rﬁﬁlu,;ﬁﬁﬁéw,zﬁﬁ%v.xmﬂm%wﬁrnrﬁﬁ-j- F{‘ kj&

X is the brogher of U. U i
.U 2 . I
X i the o U is the doughier of 7. v i8 the daughter-in-law of 7, V i 1hcﬁ£f¥ of X. Wha is the

(A} Z
(B) ¥ OO X () U

% w1 =afep 10wy : )
ﬂﬂﬂ%ﬁ?ﬁﬁaﬁ{%?ﬁﬁﬁqﬁﬂﬁaﬁwmm G 9t & 3 7 T e #, 7 e 7w =

(A) wd @}
(B} ufim ":]{L‘] I (D) &l

5 ‘FI'I.'J

(A) East
(B} Woest & () North (D) South

:rﬁ: 354’@ =t 'l.'l.]EEEB Frarsmr 9 73453 ﬂ%&mm ?
j; 93474 is written as GCRER, then how is 73453 written T
[A) AEBAC {B) AEBCA (C) ACBEA (D) EABCA

ﬁﬂ’%ﬂf@ﬁmﬁﬂmﬁmmﬁﬁqsﬂtwmmaﬁﬁm
HHMIKTABGE_JJWEHUD]PY

ﬁgﬁ'.S“?EE@IZEél%Q#E
&t 1€ Ml 3 sER BMIKPU s1aiE 53 0

e : S PAW-t. 5

e TEEAT e U i & 2 i v o v ot S o s o e o S e |
(A) 8615#% (B) 861548 & (C) 8%153% (D) %1549

Study the following table and answer the quastin@
Tatter | M | T | K| T|A|B|E|J | W|F|HI{D|DIPF|Y

Code fa " 5 " | 7 E | @ |1 2 3 4 | % u %
What is the code for BMJKPU as per the given table ?
Condition .
If the first letter is a consonant and the last letter f;fl vowel, both are to be coded as the code of the vowel.
(A) B6154% (B} 8615#8 E (C) B%15i% (D) %61548%
P % » B C
=HeT: Fe =8l ? % I ,G' gi'_
Complete the analogy :
Jron : Fe :: Silver : 7 e 1 " 4 E—
(B) K @ (C) Na (m) ¢ 7 <
A) AR ;
{ sﬂ:cﬁsﬂaﬁﬂﬁaﬂaﬁﬁtlAﬂﬂﬁfsaﬁmﬁaﬂﬁmﬂﬁuﬁﬂm

f.@l}iﬁiﬂﬁﬂﬁﬂaﬂ ey
fHed e Iaﬁ?ﬁﬁﬂﬂ?mdistriél;led among A, B, and C. A receives T3 maore than B and B receives T 4
is

4
The total amount of T4515 ¢ { their shares 7
: ; atio 0 16
mmsmanc.wlw““"*;m a1 (60T () 2n:daad W leieed
(A) 2116 e e T G EA N e g’
6 |
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1. Frferfiam it g PRI il de1 w1 0 Frean 7772 7

L?? Hﬁﬁrw ¢y wsel sl
EMTI 58 g S0y frmm
tich one of the following is nor the graphical reprifsentation of statistical data ?
WA Frequency polygon <1B) Cumulative frequency distribution
(C) Bar graph D) Histogram

&

12, w2 v | hGOAGE #ﬁﬁmaﬁ;m s e T, e e ety e o, e vy

SEF T Y Tt A S off | G S A i S gt ave AT B Y
If the first and second letters in the word * LANGEAGE® were interchanged, also the third and the fourt
letters, the fifth and the sixth letters and so on_ Which letter would then be the fillh letter counting from the

lefi 7
NAUV ED
(A} N M u HLa € G (D) A

113, U T U R 75% mﬁﬁﬂﬂﬁlﬁﬁﬂmﬁﬁﬁﬂqﬁﬁﬁaﬁﬁﬁmﬂ A
70 iz 31 g B woagea € | areifs, Tﬁﬁﬂ&mmﬂ%ﬁﬂiﬂiﬂm 18 To=1e 1 w9 farT OeT |
o i PR & 2 {1 \oo (¥ &

(a) sofefimfader  (B) wofeivfisn ko sofefsfsa (@) no AR
A train can travel 75% faster than a car, Both sk from point A at the same time and reach point B,
70 kms away [rom A, at the same time, On the3ay, however, the train lost about |18 minutes while
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